MATLETKER

L TFKEEES
&2 § —

I = & B

WMATHREFILET12—1
#h £
i 5 £ BEARINRT15
T =<3 £ BARNKR TS EREREEEHISE
®w I H R
_ ER 31% 2H15H T E B =
i E H

EREREENE 1=
B X E
) ) . I EHiE 25259000 FHih
& O O£ % & 27,279,720 A BER

HERERLE 2,020,720 FHth

[BRFmEFrKERm EFKB=Eah]




XK I =& KRN R E
ZE B I i& g Al MoOoAl |EA|H=E| B M & % ] F
AKIEE
g = 1 21,420,000
FEAIE
[ {if BEEIEE [HXE = 1 100,000
FiEE = 1 242,700
BEIE = 1 100,000
EERE
(BREE) = 1 2127
RE% = 1 56,715
H(EEIZE 501,542
FiEIEE [HaREE = 1 226,396
(ERE) = 1 260,000
RIGEEE = 1 746,387
EEEE = 1 341,454
it(HEISEE 1,574,237
A (3BT TER{E) 2,075,779
RETEUTE = 1 1,104,301
T (THERA) 3,180,080
—REBESE = 1 659,230
(T EMR) 25,259,000/ F M Ik &
HEREHELEE % 8 2,020,720
St GRET£%8) 27,279,720
(AT EFrKER EFKBESEa)




